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= shapiro.test(ad)
g o S )
@ Shapiro-wilk normality test
. data: ad
2 7 o W = 0.96757, p-value = 0.8674
o = shapiro.test(sell)
E g e @ Shapiro-Wilk normality test
Q
o data: sell
= o W = 0.97287, p-value = 0.9161
o > cor.test(ad,sell)
9 o
? ; T T . Pearson's product-moment correlation
40 60 80 100 120

data: ad and sell
ad t = 6.7261, df = 8, p-value = 0.0001487
alternative hypothesis: true correlation is not equal to 0
95 percent confidence interval:
0.6963398 0.9816763
sample estimates:
cor
0.9218123
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] > options(scipen =100)
: = chisq.test(NS1)

Pearson's Chi-squared test

data: N5l
X-squared = 34.734, df = 9, p-value = 0.00006639
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Pearson's Chi-squared test
data: NS2
X-squared = 20.34, df = 8, p-value = 0.009123
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(M-1. S0| 0N, FELEO otsat HAOtE2 N YL = (overall speech rate)= 72
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g orsar ol ozl 108 Zt2fo| HehEw s o0 Fgots M Fojors HE
OS2 L+0| HolHE TSACL HIOIH= ChEih 2O ("N="8d0tsHE, s=Z0iotsHEh

X N 5
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3 3 5.107 4.507
4 4 4,465 6.020
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6 6 4,979 3.609
77 5334 6.519
8 3 5810 5.081
9 9 4.859 4710

10 10 5.233 2.810
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<318 48 (qgplot) -1>

Normal Q-Q Plot
g 54 _ > shapiro.test(ns33N)

- Shapiro-wilk normality test

Sample Quantil
5.

us 10 s data: ns33N
W = 0.96184, p-value = 0.8067

Hormal @-a Plot = shapiro.test(ns3$s)
- .
[ /,,/1-’/ Shapiro-wilk normality test
i /'/ data: ns3§s

Tl : : W = 0.96468, p-value = 0.8377
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= var.test(ns3§N,ns3§s)
F test to compare two variances

data: ns3$N and ns3$s
F = 0.17791, num df = 9, denom df = 9, p-value = 0.01693
alternative hypothesis: true ratio of variances is not egual to 1
95 percent confidence interval:
0.04419023 0.71626304
sample estimates:
ratio of variances
0.1779096

<T-testZD} -1>
> t.test(ns35N,ns385)

Welch Two sample t-test

data: ns3%N and ns3%s
t = 0.41655, df = 12.104, p-value = 0.6843
alternative hypothesis: true difference in means is not egual to 0
95 percent confidence interval:

-0.7306121 1.0764121
sample estimates:
mean of x mean of y

4.9058 4.7329
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X N 5
11 3.660 3.410
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8 & 3.741 3.349
9 9 4,323 2.033

10 10 3.375 3.801
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<dmdd8(qgplot) B2t - 2>

Normal G-Q Plat

= shapiro.test(ns53N)

% ER d_i,,ﬂi*”;")))ﬁ Shapiro-wilk normality test
ale i : : : . . data: ns53N
" e " mu&LMNE " v v W = 0.89525, p-value = 0.1941
Wosmusl e Plot > shapiro.test(ns53s)
‘_Ifx)’”’/J Shapiro-wilk normality test
"’T’/J’/t data: ns5§s
o o 0s 0o s Lo s W = 0.92196, p-value = 0.3736

Theorstical Quantites

MeaE 21t - 2>

(==
<sT—i!
= var.test(ns5%N,ns585)

F test to compare two variances

data: ns5$N and ns5%S

= 0.49187, num df = 9, denom df = 9, p-value = 0.3054
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:

0.1221743 1.9802780
sample estimates:
ratio of variances

0.491873

<T-testZ1} -
= t.test(ns5%N,ns585,var.equal = T)

Two Sample t-test

data: ns5%N and ns5%s

= 0.65708, df = 18, p-value = 0.5194
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:

-0.4673745 0.8927745
sample estimates:
mean of x mean of vy

3.6774 3.4647

(1)-3 FEEH0 ofs2 =041 MHHAl S=0|M LiEtLHE FH S (overall speech
rate)0il & 2[3 XIO|E EO|=7}?
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e 2|

1/ 3.539 3410
2 4185 2,952
3 43907 4445
4 5.020 3.782
5 5949 4,334
6 3.609 2,274
7 6519 4,268
8 5.081 3.349
9 4710 2.033
10 2810 3.801
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Normal Q-Q Plot

, > shapiro.test(ns75=0] - ns731HA)

Shapiro-wilk normality test

Sample Guantiles

i data: ns73=0| - ns7$2tH|
ol ‘ = 0.93936, p-value = 0.5459

Theseelical Quarides

<T-test A1t -3>

> t.test(ns7$=0],ns7 824, paired = T, var.equal = T)

Paired t-test

data: ns7$=0| and ns7$IHA|
= 3.5807, df = 9, p-value = 0.005924
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
0.4670047 2.0693953
sample estimates:
mean of the differences
1.2682
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Pearson's Chi-squared test
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= chisqg.test(NS2)
Pearson's Chi-squared test

data: NS2
¥X-squared = 20.34, df = 8, p-value = 0.009123
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Pearson's Chi-squared test
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data:

9.7633, df = 8, p-value = 0.282
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LGOI T-testZh DR H&OIM FHTEEE Rolo XH0|E EQICtn & 4 {iCt
0.5164). WetA =0|¢gnt HMAMAl S&oM FYotsa FEIEoorsel MHHESEE
wolet Xt0|S EO[X| fh=Lf.

T} - 4> SOIMOIN HOHOIRY WE MHULE T-testZ 1}

> t.test(ns33N,ns355)
welch Two Sample t-test

data: ns3$N and ns33s
t = 0.41655, df = 12.104, p-value = 0.6843
alternative hypothesis: true difference in means is not egual to 0
95 percent confidence interval:

-0.7300121 1.0764121
sample estimates:
mean of x mean of y

4.9058 4.7329

<ZIt - 5> MANHAl S0 FOHAR0 MHE HHEEE T-testZut

> t.test(ns5%N,ns555,var.equal = T)
Two Sample t-test

data: ns58N and ns58S
t = 0.65708, df = 18, p-value = 0.5194
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:

-0.4673745 0.8927745
sample estimates:
mean of x mean of vy

3.677 3.4647

Lt-2. fEdE0jorEe d&o ME MHTSE Hn

YdY0orse s0|d&e MMTEE a2 47329 0|1 DHIMAl oMol FA|
YELC YT U2 346470|Ch O|S2| XH0|= 1.26820|Ct FE IO ots TEHOM =0|4e
P OFMAAL &80 W2k 0| =0] Folgh X072t A=K HSEE T-testE Sl LOERL
Ch REZIMS CHSEET-testot it L5t ZCH<Zo-6>HX) WEtM REEENE
7tE OtS0 =0l MAMAl S&0A FHETEEE 7ot XH0|§ 2Lt (p =

0.005924)

<ZIt - 6> YOHOrFl MA|lL20 MHE T-testZut

> t.test(ns7$=0],ns752t8], paired = T, var.equal = T)
Paired t-test

data: ns7$=0| and ns7$1HA|
t = 3.5807, df = 9, p-value = 0.005924
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
0.4670047 2.0693953
sample estimates:
mean of the differences
1.2682




Ct. 2x} EMAIZ] - HA SN FEETojorSel MHTLEL ZZEE Hu

FEEYoorE 2 MAlSE (=0 MM HHESELE ZEEE2 FOSh K07} AZS

SO|M20AN FEEEOOIESS Mo HE2 47329, =245 W2 5.25980|C},

_Eo:]
0|22 wo| F2let 0|7t JUEX| T-testE SOl LOLEULE REZIH t-test Aut= ChS

ap 2L (<BI-7> X)) S0|dE0AM HHREEA 2352 Rt X0|E 20|X| e
Ct (p=0.2993) DA MA|SZOIM FEE Soiotse THEELES BEX2 34647, TS5

rot

X| LorEict &

ChZat 2o (<21t

( b
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> t.test(pSSTMESE , pfsE=&SE var.equal =T) #p = 0.01434 AFTFE 7
Two Sample t-test

data: pISTEMYSE and pisEESSE
t = -1.0688, df = 18, p-value = 0.2993
alternative hypothesis: true difference in means is not equal to 0O
95 percent confidence interval:
-1.5626303 0.5088303
sample estimates:
mean of x mean of y
4.7329 5.2598

21 - 8> MM MAIGEM Fojotsel PHETEE} ZFEE T-test 2t

A

> t.test(s$STMTSZE s§SESSE ,var.equal =T) # p = 0.001137 (0.055
Two Sample t-test

data: sSSTHLEE and s§sESSE
t = -2.5637, df = 18, p-value = 0.01953
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
-1.5556705 -0.1543295
sample estimates:
mean of x mean of y
3.4647 4.3197
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